il

g
=
s
i

1. ¥¥4
¥4 SR TEEIF)I A LAY A NHVERE (20 2) ¥#EK
JBA T PR A T

2. ¥EBNE
PRI FEERT  Hitsdaskai

1) FEF4
2) BT 185 HIH H 4&fn 74 6H25H
= S THE12H26H

3) &FEtHM
AEBIL. WRINZ 29 A MBI 2R—Y 7

 KEHERRERH OERE R L T2 5D TH D,

AL K UM /KR S 2 S L

4) EBNE
B, BoRER O LBY,

E+sZi@E SN



I

BN

Tl
P

==
=]

WL | BTN TAEEIRE X LY A METRE (FD2) %K ¥ HYE A
HH — A
THH - THE - FER BT B & 4 H AR ER
— AR = 1 27, 298, 181
B AT 2V 1 23,677,118
R — 1 > 7 2V 1 14,653,028 | HEAR—V 7 (F—na7R—1

) 1 m
KEPEL « S b, BOmEE~80mLL T, AT
T, ¢ 86mn

HRER—-V T (A= a7 R—U

) 20. 6 m
#A, 50mEA~80mLL T, $ATE. T 7, ¢ 86m
m

ARV T (A= a7 R—

NZZd) 16. 8 m
HfEYS 50mEA~80mEL T, AT T H, ¢ 8
6mm

ARV T (a7 R—

N2 41.6 m
i, 50miB~80mLL T, $0iE. T 7, ¢ 86m
m

TER—V 7 (F—naTR—1

) 1 m
At - 2L B, 80mEE~100mEL T, $1
BT/, ¢ 86mm

+ER—=V 7 (A —na7R—V

) 2 m
TR UV 40, SomiHE~100mLL T, $HIEL
T3, ¢ 86mn

EHBAR—Y 7 (a7 R—

) 7.3 m
O, SOmEB~120mLL T, $AE 5, ¢ 86
mm

-1 - EEAZmE  Fu T R



==
=]

m
2
%

WL | BTN TAEEIRE X LY A METRE (FD2) %K ¥ HYE A
HH — A
THHE - THE - R BT B & 4 OB RR
HBR—Y 7 a7 R—
) 33.9 m
HlE, SOmEB~120mLA T, $0E F 57, ¢
86mm
HRER—-V T (A= a7 R—U
) 55. 8 m
TS, 80mEA~120mLL T, $R1E. T 7, ¢ 86
mm
YU LT 4 7 RONENCERR &V 1 8,805,090 | LA LT A K
34 B
fLEEEEIEE (B
79 m
T, 50mEA~80mLL T, $ATE. T 7, ¢ 86m
m
fLEEEEIEE (B
97 m
T, SOmEA~120mEA T, $R1E. T 5, ¢ 86
mm
BT R 2 1 215,000 | R IERE
1 =
I e = 1 4,000 | e
2 EN
i = 1 3,621, 063
TR = 1 2,223,180 | IEHEE
1 =
Hef = 1 335, 780 | E(H K O 417
1 =
A FLEAZE
1 =
FaKE (R 75EER)
1 =

-2 - E+sZi@E SN



ull
P

==
=]

WP | B TR X LAY NVERE (FD2) %K E B FRA
HH —FRA
THH - T - R A7 £ & KA MR N R
e #: 389,400 | J&H{Ek
1 =
TR E 506,604 | fr#e (FiFLE - 151A%E)
1 =X
i T R =X 166, 099 | fi T45HE
1 =X
fEHip}
1 =X
EAETA -+ A =X 27, 298, 181
il X 16,671, 819
HatS = 16,671, 819
— A = 43, 970, 000
AT A = 7,083, 816
EHEEGE = 7,083, 816
TSR A = 7,083,816 | fLEEMm{REIZE (FRHT)
176 m
WEEEIED E LD
1 =
BiStii} = 377, 320
Bistii] = 377, 320
Froaess = 241,900 | T8¢
1 =
BRI R SR ERK, = 135,420 | ZA\BHH R SVER:
1 =
-3 - E+2mE SN )R



FEH N

%lljll
I

MWL | AT TEERE) X LAY NVEREE (F02) %(5% E B FRA
H H ERERAM (O <)
THH - T - fER] A7 ¥ = & % OB ORR
EREEM (ZOMEmER<) = 1 7,461, 136
Z DA =X 1 3, 181, 802
— B PR 2y 1 5,727, 062
MR A s 2y 1 16, 370, 000
RS SE MR 2y 1 60, 340, 000

-4 - E+sZi@E SN



